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NU617 Eil=] 10,400 60% B B 10,200 60% | NJKZA:9,900 3HEAI 8,900 66%
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NU607 RIE 11,500 |  55% Bl E 10,700 | 59% |Z:11,000 3HAI 9,200 64% | k7K:8,900
NU609 =] 11,500 | 55% Eil= 10,700 | 59% |Z:11,000 3HAI 9,200 64% | 7K:8,900
NU617 =] 10,400 | 60% Eil= 9,900 62% | 8:10,200 3H7 8,900 66%
NU621 Bl H 10,400 | 60% Bl H 9,900 62% 3HEA 8,900 66%
NU625 BRI E 10,400 | 60% Bil H 9,900 62% 3HA 8,400 67% | A:8,500
AiE% NU600 =] 10,400 | 60% Eil= 9,900 62% | H:10,200 3HAI 8,400 67%
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B (IS =R1E b8 (BRER) & | NU601 Rl B 10,400 60% Eil=) 10,200 60% | MJKZAK:9,900 3HAI 8,400 67%
NU605 Eil=] 11,500 55% Eil=) 11,000 57% | A kJK:10,700 3HE A 8,900 66%
NU607 =] 11,500 55% Bl H 11,000 57% | B kJK:10,700 3HEI 9,200 64% | NJK:8,900
NU609 Rl B 11,500 55% Eil= 11,000 57% | A k7K:10,700 3HEI 9,200 64% | NJK:8,900
NU617 Eil=] 10,400 60% B B 10,200 60% | NJKZA:9,900 3HEAI 8,900 66%
NU621 Eil=] 10,400 60% Bl B 9,900 62% |£+H:10,200 3HEI 8,900 66% | H:9,200
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RiE % NU600 HIE 10,400 60% fEil=] 10,200 60% | KIKZA:9,900 RY=K:D] 8,400 67%
NU608 Eil=] 10,400 60% B B 10,200 60% | NJKA:9,900 3H A 8,400 67%
NU610 Eil=] 10,400 60% Bl B 9,900 62% |£+H:10,200 3HEI 8,900 66% £+ H:9,200
NU612 il=) 10,400 60% 0= 9,900 62% |[# 1 H:10,200 RY=K:D] 8,900 66% |£1 H:9,200
NU614 HIE 11,500 55% fEil=] 11,000 57% | kJKA:10,700 RY=K:D] 8,900 66%
NU622 Eil=] 11,500 55% Bl B 11,000 57% | NJKA:10,700 3H A 8,900 66%
NU626 Eil=] 10,400 60% Bl B 10,200 60% | NJKZA:9,900 3HE AT 8,900 66%
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NU625 Bl B 10,400 60% Bil H 9,900 62% |£1:10,200 3HEI 8,400 67% | A:8,500
RiE % NU600 HIE 10,400 60% fEil=] 10,200 60% | KIKZA:9,900 RY=K:D] 8,400 67%
NU608 Eil=] 10,400 60% B B 10,200 60% | NJKA:9,900 3H A 8,400 67%
NU610 Eil=] 10,400 60% Bl B 9,900 62% |£1:10,200 3HEI 8,900 66% |$1:9,200
NU612 il=) 10,400 60% 0= 9,900 62% |¥1:10,200 RY=K:D] 8,900 66% ¥ 1:9,200
NU614 HIE 11,500 55% fEil=] 11,000 57% | kJKA:10,700 RY=K:D] 8,900 66%
NU622 Eil=] 11,500 55% Bl B 11,000 57% | NJKA:10,700 3H A 8,900 66%
NU626 Eil=] 10,400 60% Bl B 10,200 60% | NJKZA:9,900 3HE AT 8,900 66%
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